7 graphing.notebook

HW Check
Notes p. 55

due TMR!!!

Essential

Question
How do | use

my calculator to
graph systems
of equations?

4 e 2 o ' 6
You need a calculator today, too

Warm-Up Thursday

.

1. Which of the following models a system of equations with
no solution? How do you know?

A
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Algebra I - Unit 4: Solving Systems by Elimination Day 2

Practice - Solving Systems by Elimination Day 2
Name Date Period

Solve each system by elimination.

S5x-2y=4 3x-5y=7
. th =7
3x+y -0 Sx_2y -1’ ENXFY
3x -5y =13 4x+3y =9
) t =2
* x-2y-5 Icrdy =127 oY
3x-2y=-1 4x+6y =0
6. th -y =7?
3x-4y =9 Gx+8y =2 XY

7. Karrie and Amy were shoulder partners. They both worked the same problem, but got two different
answers. Who is incorrect and explain the error they made?

Karrie:
=3 —» = -
Xty =-3 X+y 3 When she solved for x, Karrie got x = 0
3X+y =3 —» (Bx+y=3)
-2x =0
x=0
Amy:
=3 —» -
Xay=-3 Xt+y=-3 When she solved for x, Amy got x= 3
x+y=3 —» (Bx+y=3)
-2x=-6
X=3
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m, state the best method to use and use that methos 535.

- +<woocew. of @ rectangular volleyball courtis 180 feet, The court’s width, half its length, /.

I‘D‘é;err;nne the dimensions, in feet, of the volleyball court.
L 2L+ 2w =_|@D

Lk w bewi
""{: Le Lbuem-

1 -
\ -Y2 ‘Ko
9. At dy's Sweet S ade ¢ pounds of chacolate-covered raisins, which sell for $1.50 a
and y'pounds of Jogurt-covered raisins, which sell for $1.20 a pound. Sarah wants to make
40\pounds of amixture of the two kinds of raisins that sells for $1.35 a pound. How many pounds
of dach'kind of ¥aisin is needed to produce the mixture?

10. Three hundred fifty-eight tickets were sold to the school basketball game on Friday. Student tickets
were $1.50 and non-student tickets were $3.25. The school made $752.25. How many student
and non-student tickets were sold?

v

19 apples of Mferent vasesest® make a DIEME total cost of the apples was §5.10.
Granny Smith apples cost $0.25 each and Cﬁli apples cost $0.30 each. How many of each type of

Lo §bedennySnith:
Lk & be S3\e:

025 + 0-306G= ©4°

§+ g =1
\(G-\0
b;zs D'QD]' CM

S=top
Q= potrsyw.,
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N

Essentia
Question

A SOLUTION to a system of equations is wh eXxe,
\\nes nt+evrseck.

Does a system of equations always have a solution? Why or why not?

NO , \WOes huld ‘ot cavallel.
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ESS@U’{‘GI How do | use my calculator to graph systems of equations?
-] Question
S N R R R R RN R AR AR NN EEEEEEE NN NEEENEARNREREEEEREEREEEEEREESEEEEEEEEREEEES N
-] : Using The Calculator: (
; : To solve a system of equations by graphing using the calculator: &\\‘ Q:G\
: * both equations need to be in slope-intercept form, y - mx 5 \\’/'
#| = e Enter each equation into ;= on your calculator.
s : ¢ Pres
A - o Can you see where ines.j ' jewing wi 2 If not, use

; : your knowledge of domain and range to set a good viewing window.
1. Preshen 5, intersection. .

#| = e Follow the directions on the screen €
| Enter 2 102

.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII Tl;a:"P'usSI‘\:LTE"":WH

AeX\rors protz Frotz F]!!{J!;]]g

% Y1 80. 25-5 sualue

2 =Y eQ3R+2 28 Zero

% whe= SEmMinimum

= ~Ny= i maximum

& wWe= intersect
~WE= s g

| wwes TEIF O
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538 ent '01 How do | use my calculator to graph systems of equations?
Question

L

ey i i i G i S S e S S i i i S i

e

Find the solution set to the follnwin

n gnuatinne  Jf there is not a solution, write No Solution.

4x -2y = 4
2y =4x

p .

Int-zv:-z-:t.-:-r.
n=iiz

1. y=x-16

=-y4.7E

1
y+x

..__A LyxN\d\2% - tﬁ‘a}
\‘,L—— "—%'X"\

2. y=4.7x+2.1
y —1.6x =-5.34

Flotl Flok Flobz

V(.

wE=
wy=
wMe=

4. x+2y =4
2X+y =5

ERE -’%3

5. 3x-y=2
12x -4y =8
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Essentia
Question

6. What is the x-coordinate of the solution to the system of linear equations below?

(round to the nearest thousandth)

4.8x+0.6y =4
3.2x+y =2.7




7 graphing.notebook

] ﬂ -

Essential How do | use my calculator to graph systems of equations?
Questiion

7. The RHS soccer team is selling hats as a fundraiser. They contacted two companies.| Hats Off
charges a $50 design fee and $5 REL haD Top Stuff charges a $25 design fee and $6 per hat.

Slop€

A) Write a system of equations that represents each company’s pricing.

et Statements s = + Sh
Lex coSY e C. c=30

ws’n\& - + L=
Loy \nats e h. ¢c=29
B) For how many hats will the cost be ;g:hnlﬁlﬂmn? Ly\z”'\:'t is the cost?

N,= S0 S K 25 N3Ls

4, =25+ X 1 §p%5

C) Explain when it is cheaper for the soccer team to use Top Stuff and when it is cheaper to
use Hats Off.
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533 en{ '0] How do | use my calculator to graph systems of equations?
Questiion

8. The graph of a system of linear equations is shown below.

A

i

Which of the following is the solution to
this system of linear equations?

=

A. (0, 4)

B. (8, 1)

c. (0,-3
. (10,

bl Lol o rof| w| sffed of < = o

Qx%’@ﬂd 1S

SR ERER
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Essential How do | use my calculator to graph systems of equations?
Questiion

9. An economic model predicts that the supply
and the demand for a new product can be

estimated using the lines on the graph below.
Based on this graph, how many items must be
sold in order for the supply and demand to be

equal? 3 .| RMS

Cost of an item

Number of Items Sold
6 7 |
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533 en{ '0] How do | use my calculator to graph systems of equations?
Questiion

10. The following graph shows the solution to a Which ; onsic b
#d system of equations. ich system of equationsis best
1Y g represented by the graph above?

y=-X+3 y=x-3
y=2x-10 y =-2x+10

y=x-3
y =-2X x+10

H
8
¥
— &
&
4
H
T
T -

Which system of equationsis best
represented by the graph above?
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Algebra I - Unit 4 — Solving Systems by Graphing

Practice - Solving Systems by Graphing
Name Date Period

Solve each system of equations below. You must solve for y to use your calculator!

1. y_gx—l 2 y=-2x+1 3. yfgx—%
y=-x-4 y=x-5 %xry=2
4. y=69x+124 5. x+y=0 6. 2x-y=-1
32x 4y =528 Ixiy=-4 y—%x—e

7.Shelby solved the following system of equations and reported that x =4and y = 6. Solve the system of equations
by graphing. Is she correct? Why or why not. Use the table to justify your answer.

y-x=2 X Vi ¥z

4y =8x-8

8. Coach Sureshot needs to hire an electrician to do some repair work at his new home. A-1 Electricians charge
$30 for a service call plus $45 per hour while Excellent Electricians charge $40 per hour plus a $55 service call.

A) What equation could represent the cost for hiring A-1 Electricians?
B) What equation could represent the cost for hiring Excellent Electricians?

If the electricians only work for 2 hours, how much will each company charge him?
C) A-1 Electricians will charge
D) Excellent Electricians will charge

If the electricians have to work for 8 hours, how much will each company charge Coach Sureshot?
E) A-1 Electricians will charge
F) Excellent Electricians will charge

When will both companies charge the same amount?
G) For hours, both companies would charge

9. Which graph best represents a solution to this system of equations?
2x -3y =0
X+2y=-7
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HW Help: Graphing Systems

No work =no credit = no kidding!

Show me what you typed into the calculator!!l
. \(()[J tr}/! :3_ Flotd Fletz Flots

£ 1
AL A-

1. 2
\\‘x I f’ﬁ - R
L

W=
Inkerceckion =
4="1.8 b=z R

4. Youtry! 5. JE4%"™ 6. You try!

/. Solve both equations for y and check the
table...does y1=y2 at x=47

8. A) y=30+45x B) y=55+40x

For parts C-G, use the table in the calculator! x
is time (hours) and y is charge (money)

9. Solve both equations for y. Which picture
matches?
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